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https://vk.com/page-47200925_44240810
http://ria.ru/world/20150213/1047586986.html
https://br-analytics.ru/sample_report/social_network_russia_winter_2015_2016.pdf
https://br-analytics.ru/sample_report/social_network_russia_winter_2015_2016.pdf
https://corp.mail.ru/media/files/issledovanie-auditorij-sotcialnykh-setej.pdf


   

 

 

 

                                                           
 

 

    
           

https://wciom.ru/index.php?id=236&uid=111364
http://www.interfax-religion.ru/?act=news&div=40794


 
 

                                                           
 
 
 
  

https://vk.com/mosbuddhism
https://vk.com/gelug
https://vk.com/public23509777
https://vk.com/dzenpub
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